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QUESTION 1

Which of the following features can provide significant benefits in storage savings, performance of analytic workloads,
and time to value?

A. pureScale

B. auto reorg

C. BLU acceleration

D. Self tuning memory manager

Correct Answer: C

QUESTION 2

Below are the SQL statements a DBA is planning to execute on a database:

CREATE TABLE t1 (name VARCHAR (1));

INSERT INTO t1 VALUES (AW), (B\\), CC\), (DWY);

ALTER TABLE t1 ALTER COLUMN name SET DATA TYPE INT;

What will be the outcome of the last statement?

A. The statement will fail due to variable length character error

B. The statement will fail due to an incompatible data type error

C. The statement will execute successfully and it deletes the character data

D. The statement will execute successfully and it internally converts the character data into ASCIl numbers

Correct Answer: C

QUESTION 3

A multi-partition database environment using BLU acceleration is designed to meet which of the following requirements?
(Choose two.)

A. Easy scalability
B. Management of very large data sets
C. Continuously available dataset solution

D. Increased throughput of many concurrent short running queries

Latest C2090-616 Dumps | C2090-616 PDF Dumps | C2090-616 Exam Questions 2/3


https://www.pass4itsure.com/c2090-616.html
https://www.pass4itsure.com/c2090-616.html
https://www.pass4itsure.com/c2090-616.html

2024 Latest passditsure C2090-616 PDF and VCE dumps Download

g VCE & PDF https://www.pass4itsure.com/c2090-616.html|

— PassditSure.com

E. Faster response time of long-running or complex queries with I/O spread across many computers

Correct Answer: BE

QUESTION 4

Which edition of DB2 LUW has been discontinued in v11.1?
A. DB2 Developer Edition

B. DB2 Express Server Edition

C. DB2 Enterprise Server Edition

D. DB2 Connect Enterprise Server Edition

Correct Answer: B

QUESTION 5

A user executes the following statements:

REATE TABLE t1 (c1 INT, c2 INT);

CREATE ALIAS al FOR t1;

What will be the result if the user executes the following statement?
DROP ALIAS al;

A. The alias A1 will be dropped

B. The table T1 will be dropped

C. Both T1 and Al will be dropped

D. Nothing, the statement will result in an error

Correct Answer: A
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